[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |
~ 0.0%

; 1_ """"" e et i i

o T

s | .009
© L

8 08 e .008
g I .007

.006]

o
(o))
T
o duplicgiesdatesys

S SO S SR 0.004
ik 0.003
. SR oo 0.002
: : : 0.001

I
IS

o
N
T T T T T [ T T T

o
o
o
(4]
T[T [ TTT I T T[T [T [TT T [TTT T TTTT[ T rrre

.....................................

Ratio
=
Iy
T
Ratio

O O

1072 107

1 10 0? 1 10 0?
track ref. point r (cn%) track ref. point r (cml)

—=— DQM_CKF_TTbase

Fake ratevs Y —s— DQM_CKF_TT_retrainOldFiles125 v2_prelimWPM_epoch4
| e P S S P ~ 0.0 r . . . . ~ 0.01,

o o . : . : I . . . . o E 5 5 5 5

A T S R R L S S S S i S

A U U TR SO S O N N N T

=< o . . . . . C . . . . . C . . . .
£ oL R.007F - e R A D.007F+--- e e e A
L . . . . . o F . . . . . o F . . . .

X EVCUUO SO SOURRS UOROOS SRS SR D.00BE - beeeebene e 0L SRR S SN NS St SR
o H H H H H (o] E H H H H H E H H H H
. T e R T R S

afdet il S T S s S s S e
S N 0003+ 0003+

0.2 ! 3 | SO 0.002F -+ : ' ' ' 0.002f -+ +heeene Feeees e e L
i T 0.001 0001+ eeesesse e

o Op——- ; I S — o Ok o G

=T | PP L4t S 5 r = r

24 F o [ : : : : : 24 r
7 OURU SO 1 1| B Y O SO R S S S e s
B0 0 10 20 30 B —=0"=i0 0 10 20 30 B0 =00 10 20 30

track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

Fake rate vs. simPVz | [ Duplicates Rate vs sim PV z | [ Pileup rate vs. sim PV z |

N T T ~ 0.0l : : : . . n 0.01 :
> | > E : : : : : > E : : : : :

O S SR SR S L Rt

B 08 oo e Rt S Ot U S L S SRt SN S

- O 7 S R R O S I

Q L : : : : : : : 9 o : : : : : 8 E : : : :

S gt ®.00BF koo e R RTTT ®.006F---++5--eeoe PR RRRPRRE e
e L : : : : : : 0 E : : : : : o E : : : : :

A T A L R SRME A AL S R S AR AR
: : : : : : : o E : : : : : = E : : : : :

0.4 2.004F------ e e A 0.004F - e e AR AR AR

=] F : : : : : F : : : :

003 i TR R S S

0.2 0.002F -+ berseesbeenesdninindid 0,002 -+ eeeesbensenednnnin i

0.0+ erereesfonsen oo 0.00ZF-+ -+ eeeeeeshensene s i

o OF o o Cl_" o q_""
I - S L

e T S S e T e
6 1 1 0 L T L : : : : : C : : : : :

0y 1516 -5 0 5 10 15 20 %60 —40 —20 0 20 40 60 %0 =40 =20 0 20 40 60

Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)



	Contents
	Page 1


